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Part-B — General Studies (Degree Standard)

. emnaset : 101-200 Qurss dHu@uetmadt : 150
Questions :101-200 Total Marks : 160

H

101. Which of the following statements are true about Judicial Review?

(i) The doctrine of judicial review originated and developed in the U.K.
(ii) The Constitution of India confers the power of judicial review on
the judiciary |

(iii) The power of judicial review cannot be curtailed even by a
Constitutional amendment

(A) (i) and (ii) are true
(B) (ii) and (iii) are true
(C) £) and (iii) are true

(i), (ii) and (iii) are true
(E) Answer not known

g yermiey LHHIW Spsarami@b arsdwhisdd ag/ame sflwrerenel ?

) g yemmies GCariur® y.Gs. (UK) Garandlug  whpid
2 (HeumssLLIL LS

(i) @pHu srdueeviy SH58®DES gHuemmiey sifsmsms aphiGADg

(i) B yemmie SIHETEOS SiTflweewly SHSsh apod G®Dss (PiaLmgl

&) G) wppd () &

(B) (ii) wpgubd ({ii) &M

(C) () wpgp (iii) &M

M) (@), (i) wpgw (i) &

(E) efler GzMweiicrena
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102. Which of the following statement with respe
power is/are correct?

@)

(i1)
(1)
@av)

(A)
(B)
(©)
AD)
(E)

to the Indian PI'ESiden._ﬂ

; ' ynly with his pi:
Money bills can be introduced 1n the Parliament only his Prig,

recommendation

When the financial stability or credit o
the President can declare the F inancial emergency

The President is not answerable before any court of law f,

exercising the powers and duties of his office

The administration of Union Territories is the responsibility of the

President

f the nation 1s threaten&i

(1), (11) and (iv) only

(11) and (iil) correct |

(1) and (i1) only

(1), (1), (111) and (iv) correct

Answer not known

Wemeu@md sapmisaiery @bHuw g@r‘r@ug‘,} gemrsHed 618/ eTenau sflwreng 2

®

(11)

(111)

@(iv)
(A)
(B)
(€)
@)
(E)

CCS2T/2022 | 28 £

Guurss soaafld  paufpgomyer W ECL uear WEsTsTEST
BILT@GLSS0 ADNWPSILESS (Wiguib

Brigen Bl floossaran odag sLer SIEEMEEQIES 2 aratmgn Cug
Ggwrssgamealt B seusyflaoamu ohelss Wlg Wb

GrurEssEOT sy SigawssSa sdsmrhser OB SLemwsae
LwaLRESIEHEG abstlanre Bilwamsder pper QuImiLIted wide.

weflwer dyGgenasiiar firamrssfde @ Lrsssmeei Qummitiureareur
(@), (iil) wppw (v) L EGW s

(11) wpmb (111) WL HGCW &

(i) wpgid (i1) LEGW &

(@), (i), (i1) wpgud (iv) &M

en Qzflwaldeame




1083. Which of the following statements are true about fundamental duties?

() Fundgmental duties are laiddown in Article 51-A of the
Constitution.

(i) 86t amendment Act, 2002 added 11t fundamental duty to the list.

(i) To develop scientific temper is not a fundamental duty.

(A) (@) only
(ii) and (iii) only
U(@ (i) and (ii) only
(D) @) and (i) only
(E) Answer not known

SligliLedL & SLeDEET &Ds5s6 Sparamib aps AsTHADTL s FluTareal?

Q) slueLs SHL_GNLDSET aqﬁ‘mmmmulﬂdr SAES 51-A @e
Qasr@ésLLL_(HeTaTg)

() 1ieus aq.ﬂuam;. sL@L®W 86aigs SHMmSSFELLID 200230 UL USD
CeissliL_(HeTarg). ‘

(i) Pl waruTeT@L®WL QUETTESD Q@ Sig LILDL SLEDLLIO.

A @) v

B) (i) wpgo (iil) LCE
(©) (@) whpgw (1) wBb
D) () wppd (il) wOD
E) S Asfudda
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104. ‘Kitab-I-Nauras’ is'a collection of the poems

m Ibrahim Adil Shah — II
(B) Ahmad -1II
(C) Tajud - Din Firuz
D) .Muhammad ‘— IT

(E) Answer not known

‘A1-@)-peuye’ eremug ererueufler LmL_cvasef e Qgm@ Ly mre.

(A)  @ramimd Quordd i agn

B) @renmd @iswg

© srRus-Ber Quased
(D) @uewrLmb WsWg)

(E) e Qsfueldoeme
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105. Buddhist poet Asvaghosa wrote ‘Buddha Charita’ in language.

(A)
(B)
(©)
D)
(E)

(&)
(B)
Q
D)
(E)

(A)
B)
©
(D)
(E)

(A)
(B)
Q
D)
(E)

Prakrit
Pali
Urdu
Sanskrit

Answer not known

‘ Uss sell@ sveuCarayt ‘Uss sfag” GO - Qumuie eropdermi.

Qrrélmsd

umed

2Bl

FLOEVE (HBLD

e GQsMwelerene

106. “The Cultural Development is characterised by intellectual, aesthetic
and spiritual attainments” Who said the above statement?

J.S. Mill

S.M. Fairchild
Max Weber
Tansen

Answer not known

“sorsery ouaisd eaugl Sifle) Sipdud  wHgid < enSs  ETS@ASETTED)
aumslIL@ss LD ereirm CLHSSTL SadHm WTHOL WIS ?

Ggg.aran.LAle.

eTav.arib. Cuifanaed(®
Cuéaev Qeuliuf
LrerGaen

e Qgfwieferana
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107 Choose the incorrect match :

®

(1)
(111)
(iv)

Suba -
Sarkar -
Pargana -

Village -

\}‘6) () and (ii) only

(B)
(©)
(D)
(E)

(11) only
(111) and (iv) only
(1v) only

Answer not known

Sipahsalar
Faujdar
Shiqdar
Bakhshi

Qurmssd Qoensapeaps CorpOsDdseaLb :

®

(i1)

(ii1)
@v)
A)
(B)
(0
)
(E)

S&um —
FM&STIT —
UiT&mestm —

&gmod —_

(@) wppid (i) we G
(11) wL_EW

(i) whpd (V) v Gub
(1v) wL @

e Qzfluaidene

CCS2T/2022
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108. Match List-I with List-II and select the correct answer :

List-I (Place) List-IT (Excavated by)
(a) Chanhudharo 1.  Aurel Stein
(b) Kulli 2. J.P. doshi
(¢0 Rakhigarhi 3. Majumdar
(d) Dholavira 4. Amrendranath

@ ® © @

A 2 1 3 4
(B) 3 1 2 4
O3 1 4 2
D) 4 3 1 2

(E) Answer not known

vigwd-l g uigue-Il ecdar Qurmsd &G @GO Gerer @;b]uS@&a)m&
Qameir(®H G‘I‘ﬂu_lfTGOT aﬂml_mmg CabQs[H\&s5a,Lb.

uigwed-I (@Lib) uiqwe-IT (Csremr i L g)
(a) sremabgrCrm 1. <7d e
(b) el 2. J.P. Ggradl
(c) grésmiral 3. gt
(d) Ggraeflym 4. wCrprpns
@ @® @©@ @
A 2 1 3 4
®3s 1 2 4
© 3 1 4 2
D) 4 3 1 2
(E) efen OzMwefidrane
= - 33 CCS2T/2022
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108, Choose the right answer among type :

Which of the following statements are tru
plan of India? |

@) The main focus of this plan was towards faster and more inclugsyy, |
growth

(ii) This plan stresses that benefits of development should reach ]
sections of population.

(ili) Increased rice production in the eastern part of the country.

~(A&)7) () only

(B) () and (iii) only

(C) () and (ii) only

(D) (ii) and (iii) only

(E) Answer not known

&pssan amppaaildr sflunareg Csiblsdésewb.

@pPureler, uvHQemmenpreug gisTRTRS HLswst  updlu  Gerand
smppsailed erg sflwreng ? '

e about Eleventh Five Yoy |

(1) @pss Horsdean ps&éw seuand elegeumar LHYID. 2 dreT_sHw aeriFfau
Cpréflwugna Q@BHSS- |

(i) eerrEflleanr LweTEET JAMETESHS ST LSS QFampeLw Geuam(id
aatuens Qbss S audlynsgHns.

(i) priger ApsEu ueHsdio oNd 2 HLSH daRsss).
A) @) vw

(B) (i) wpgd (111) wLED

(@ @@ wppd (1) LD

(D) (i) wpgud (ii1) WG

(E) efeor Qsflweidee
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110. The largest west flowing river of peninsular India is

(A) Mahi

(B)

Sabarmati

.,(6) Narmada

D)

(E)

Suspu @idwuredar Cuhe Crrsdll umyb WsLELu B eT8) 2

A)

(B)

©

D)

®

Luni

Answer not known

warbl
sumnd
BTG
el

denL Qsflweilcdrena
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v

- e same load. Ty,
111. Two exactly similar wires are stretched by tlh ons are helr
. - a
elasticities are in the ratio 5:3. The ratio of their e ong

A 3:5
- \m5:3
(C) 9:25
D) 25:9
(E) Answer not known
B® ¢85 svlser s SeTeyeTeT GTELWITED Bl Qamiugedl UL (Herarer,
sapdlar S AOwe Garsusaear aldgn 5:3 aafld sblbsafler FU& afdsp
CTEHTET ? B
A 3:5
B) 5:3
Q 9:25

D) 25:9
(E) e Qsfuacidme

112. | Human blood grouping was discovered by
(A Landsteiner
(B) Punett
(C) Correns
(D) Muller
(E) Answer not known
wefls Qs uamssamaens searLHlbgeur
(A) Coer evieamriv
B) yeaQar
(C) CsnQyetei

D) woat

CCS2T/2022 : 36



118. In the collective model of the nucleus, the shape of nuclear core is
|
(AY Non-spherical
(B) Spherical
(C) Semi-spherical

(D) Circular

(E) Answer not known

sgssmader () LrHf @D JEEEG TEEMEL Qg UGS
QubdB(HEESD ? '

(A) Gsmar auigalLHD
(B) Gamer @tq.@th

(C) ersGaner Guig.auLd
D) el aigeud

(E) Qe GpMweiichrene

o 87 CCS2T/2022
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ti faceted discipl;,
114. Assertion [A] : Science is complex, Abstract and mul ne,

concrete theoretical g i

Reason[R] : Scientific knowledge 18
synthetic.

(A) [A] is true, but [R] is false
(B) Both [A] and [R] are true, and [R] is the correct explanation of [A]
(C) [A] s false [R] is true

\6)) Both [A] and [R] are true, but [R] is not the correct explanation of [A]

(E) Answer not known

ampm [A]l : ofdwued Assorer, smsHuOTET LOMID  USTI(DSS5anE

Qs mesTL_eneuwim@,h

smead [R] 1 oiflelwe <ifley eramugy, ueLQurmer, Csm un@ wbHmd
' QsTELL (PoDSmET 2 draT_s8wigy).

'(A) [A] sflwurang yame [R] gaupreng -

® (Al Rl of. [R], [Alcpssrer shurer dlersa

©) [A] saprarg [R] smw'g,,

©) [Alo [l of, syemmes [R], [Aleipsarer sflurer Sortanp

(E) o Qsflweidema

CC82T1/2022 38 | =




115. Match the following :

(a) Apospory
(b) Apogamy
(c) Parthenocarpy

(d) Parthenogenesis

@ ® @© @
@ e & @»w
B O @ 3 @

We o © 6

D@ @ @O @O

(E) Answer not known

SpssamLaipen QUTGSES :
(a) <uCumevGumr

(b) CUNGaS
(c) unmigdCarmamimd

(d) u&ﬁg@cm@gafam |

@ O © @
@weEe & @ O
®w @ @ O
©@w O @ 6

D@ @ O 6
(E) e Gsfwefdvena

Development of a sporophyte directly
from the gametophyte '

Fruit formation without fertilization of
ovules

Development of an embryo from an
unfertilized egg cell

Development of gametophytes directly
from the sporophyte

1. GCalILGLmenu g afppa Cryigwrs

evCuTCGrmenLiL_ 2 (HeUM(& 6
2. s@DTLG LD 2 (TG

3.  sOByDTE WL Qsdaldmbs &
2 (Heumeug|

4. aGurGrreul gemBe Crrgwns
Cail GLmenul 2 (heureug

r
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116, Which of the following are correctly paired?

(1)
@)
3
@
@)

®)

(©)

D)

(E)

Kaprekar»

Janaki Ammal

Debashis Mukherjee

Meghnad Saha
1 and 4 are correct
1 and 2 are corréct

2 and 4 are correct’

2 and 8 are correct

Answer not known .

Astrophysicist
Biologist
Chemistry

Mathematician

Qéreupeuaraibdle eraney sflwimses QuITBSSILIL DaTerg) ?

(1)

)

(3
(4
(A)
(B)

©€) .

(D)
(E)

ast:an;rrr‘r .
srandls|mer
Qgumellev &gl .‘
Cuwé&pns smapm

1 wpmud 4 sflwrarereu

1 wpmpid 2 swrerenay -

2 wppid 4 sflwrerenay
2 wpmpid 3 sflwrereneu

e Ggflweldrena

cumaflwed QupQuerart

2 AW rer

Geudlulwemen

- sarflgelwereri



117. World Youth Skills day is celebrated on :
(A) March, 15

(B) May, 15
(C) August, 15

@) )uly, 15

(E) Answer not known

e o8 Qeareht Sper Hard Qarar_ LGS HreT
(A) wnig, 15

(B) Guw, 15

(O <ysevr, 15

D) gOae, 15

(E) e Qsfiweldene

118. The first Indian male Badminton player to win a silver medal under
men’s singles in the world Badminton Championship was

~ (&) Kidambi Srikanth
(B) Parupalli Kashyap
- (C) Sai Praneeth
(D) Pullela Gopichand
(E) Answer not known

s s gLaf ghepui @n@uubsriL srbduaefl Cumigseld Qeserafls
usssb Qeuann W50 BHHW e PnGUUBSTL llenerwin @ &Sy

A) aLmp9 Barhs
B)  unmuerefll safwis
©) smu Qrests

D) yeoCae Camlsnps .
(E) Qe Asfucloame

41 CCS2T/2022
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p t receipt in b
119. Arrange the following in descending order of amoun P udget

estimates 2022-23 :
(1) State excise
(i1) Stamps and registration fees

(111) Motor vehicles tax -
@ @), @, i) B i), @), (i)
©) (id), @), (i) (D) (iii), (i1), ()

(E) Answer not known | .
2022-23, PSfoe ofswstar Commu wHUGL Epssan  LDREE
Qarenaenw QpiiGeufesuiied ar(pgIs.

() wrfle sore el

(i) sder wpgb uey sLLewd

(111) Guri Lt eurser cufl

Aa @, (), () - (B) @), (), (1)

©) i), (@), () ‘ (D) (i), (1), @

(E) &er Qsfweldens

120. Which of the following statements are correct?

(i) The nominal GSDP growth of TN is estimated to be 14.0 percent in
2022-23 ' |

(1) In the TN budget estimate 2022-23, the fiscal deficit is estimated
at 3.63 percent of GSDP

(iii) The outstanding debt as a percentage of GSDP is expected to be
27.76 percent in 2022-23 ‘

)] G only (B) (i) only
(C) (i), (i1) and (111) (D) (i) and (iii)
(E) Answer not known

Qereumid amppsefer sAuraraupean CorpOs@ :

1) 2022-23-& sllppriger Quupeareldr G .

2 sanEALLILOEDS. ’ SDP  auarisd) 14.0 spaipore

(i) 2022-23, s8ppre Piflew oPsestar G : e

g STTTWLD I

@apuler (fiscal deficit) GSDP 3.63 sgaigions 5W$@Lf:gé§lmiﬁuuw

(i) 2022-23-0 GSDP-ar sgaSpiore Hoimandgider s e (outstanding
debt) 27.76 #zeigwna adliuniés’iu@pg.

A) @ oo (B) (i) we G

(®) (1), (1) wppd (1i1) (D) (ii) w doitd (i)

(E) ofe @pfusiicdama |

CCS2T/2022 ; 49 ~ | o | ;



121. Which of the following is NOT a feature of the joint family system?
(A) Authoritarian structure

(B) Familistic organisation
.\mlndjvidualistic 1dentity
(D) Depth of generations

(E) Answer not known

SeneumeuaTeuDDIT 6Tg) sal Hé GHLL S@WLLINET HDED SO ?
A sraundary ey

B) &Owu S@wuy

(C) sealvells e wrerd

(D) seoeoyapseiar e daramips sarew

(E) oflen Qpfweidrens

122. Tamilnadu housing board and Tamilnadu urban habitat development
board were created in

‘\(A\ 1961 and 1970
1951 and 1960
(C) 1970 and 1960
(D) 1960 and 1951
(E) Answer not known
ﬁb BrR SL@ asd aurflud wHHId sl Br® BaTULD eumpell C.’Lomunn_@
wib 2 (HeurdsuuLrL <, 68T
(A) 1961 wppw 1970
B) 1951 wpgd 1960
(C) 1970 wppw 1960
(D) 1960 whmw 1951
(E) e Asfudome

= 43 CCS2T/2022
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\ , Drop Back Serv;
123. Which of the following statement is/are truée of Free p €rvice

f)
Janani Sishu Suraksha Kariyakaram (J SSK)?

. Damil Nadu by TNHSP
() JSSK started as a pilot project 1n Tamil Nadu by 11

(1) Drop Back vehicle can transport mother with bables upto one yeay

@ only@

(B) Only (i)

\,(CT' Both (i) and (ii) are true
(D) Both (i) and (i) are false
(E) Answer not known

saraf éﬁaqiv &Uasaqm srilwsyd Qeoeus wym Cus (Free Drop Back) G&mmuﬁ]w

Gereu(md aaxg)gjserﬂa) TS/ CTEEL 2 GRTEILD ?

@ JSSK e TNHSP- <y g,@wm;w e wearGarmg S L1085

QsmaisiurLg).

() wom Cus arsead B wug GREEsELYLD Frowuyb QerarE @s0®

el s Qewuiul Hererg).

@) @)oo
B () o

©) () wppd> (i) @ramGi> o emano

M) () wogw (1) QrenEb saupratene

(E) oo Gpfiucidvame

CCS2T/2022 | 44 - | £



124. Virudhunagar Sankaralinganar, involved in an indefinite hunger strike

to rename the Madras State as Tamil Nadu and died during

(A) 1956 July \B) 1956 October
(C) 1965 July (D) 1965 October

~ (E) Answer not known

125.

weyTs Wb, SODETE ey QuwiT WIHD GQ_]am'Lq_ N (HEIBST FRISTOBSETT
o @nentrellysWO\(Hbg 2 ulliv SIDHS <268 [H

(A) 1956 gOae (B) 1956 o&GLmum
(© . 1965 g@am;o (D) 1965 é{é&@pnufr
(E) Qe Qsflueloeama

Who was the author of the book “Oppressed Hindus”?
(A) M. Palaniswamy - B) R. Veeraiyan
(C) - P.V. Subramanian \WC Rajah

| (E) Answer not known

126.

‘POdasLLLL @pgj&&@n’ Gra'rm ug,ga;g,gﬁm écbeﬂlﬂum WITIT 2

(A) M. upaflemd . - (B) R.é&puwer

(C) P.V. su@pwefluér . (D) M.C. grgr
(E) oHen Qgflweleoens

Which one of the following is not the achievement of Justice Party Rule?
(A) Passing Communal G.O. of 1921 and 1922 | |
(B) Creating Public Service Commission
(C) Granting Voting Rights to women

/ Non-Cooperation Move’ment

(E) Answer not known
Epsaam_cuphBled el LG FHas dulen srgman i@ ?

(A 1921 wpmd 1922 —ib pemgen aGLIyuTs gstaarsaer HapGaupdluig

"B)  wiys uaflwmert Gaiaummeamub 2 (HeUTESILILL Sl

(C) Quenms@ssE arédiown aphsiLLLg)
D) gsz@puTaLD @u_!é;asn_b '
(E) ofevL anﬂuaﬂd)a)éo

A CCS2T/2029



127. Which of the following journal is

128.

not associated with Subramaniy,

Bharathi?
(A) A New Daily | (B) Vijaya

" (C) India \Mew'India

(E) Answer not known

&Gy Qam@ssuuerer @spseia, g @lrwaiu urrugﬂut_sifr QL iTLenLwg
DO ? ,

A) g fy Quwe - B aﬂgu.nrr

©) @pgun | D) fy GpSuwr
(E) e Qsflusioame

Who are the ones who brave the FATE?
“Oozhaiyum uppakkam kaanpavar” — yaar?
(A) Learned
(B) Young people
7) Deligent people
(D) Lazy people |
(E) Anéwer not known '
‘saranipuib 2 LILGSLD STERTLIGIT — Wi ?

(A) snanCGomir

(B) @mm&'x.mﬁ

Q) Arrpwnd e Guni

D) GembGug
(E) e Qgflwaiidema

CCS2T/2022 46 .




129, What Thiruvalluvar says are the qualities of an Ambassador?
(A) Knowledge, Origin, Education
(B) Love, Knowledge, Clarity of speech

) Dut?r, Knowing the fitting time, Knowing the place
(D) Purity, Resources, Courage
(E) Answer not known

R SNHIUSNET GEMRISMTES HHeudTEnault erauhams SnpEDTir?
&)  =fley. Campod, swed

B) ey, oifley, Aselps Cués

(@) sLew, sTowLNsH, GL s

D) snuew, geweaa, sy
(E) e Gsflueiomae

130. What is the meaning conveyed through the word “extinguish”?

With ghee extinguish fire!
It will prove harder by scandal to extinguish love.

(C) System | i
D) Expertise | ;
(E) Answer not known ‘ | 7‘
“QupuIwmed erfpigIGULD erenpHOTE QaEaTenauuITe

ST HIGLGCUD ereme”

eTagLD Gpafled ‘@@uc’um’ as&ruge‘a Qurr@eh_

|
(A)  puar | l
B) ocissd - | |
(Q epew <

D) uvBeaeLeo
(E) oo G\g,lﬂu_leﬁcbmw

= ' ; 47 | CCS2T/2022
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| : ‘ dham”?
131. Which moral text is exclaimed as “elaan Ve

(A) Thirukkural

(B) Asarakovai

(C) Proverbs

@) J Naladiyaar

(E) Answer not known

‘Ceuermair Geug’ ererty GumdoLILIGID B8 B @l

A) Aws@per

B) <ysmysEGsrereu
© upQumf

D) pregum

(E) e Qsflwelcoene

132. In which excavation site Sir. Mortimer Wheelar usedl scientific and soil
layer method? |
(A) Pallavaram
(B) Attirampakkam
(€) | Arikkamedu
(D) Kaayal
(E) Answer not known .

T éw;g%mngrrfuéeﬂ .u@@uﬁ]cb &gir. GomirgLor ‘Gﬁcor'.r‘ oiflefud LD@QJLE e 2AHEG
wapewl vuau@sHaie ' |
(A) uvéereujbd

B) opHrbuTsEsDd

(©) L Lo

D) smwe
(E) e QsMweldena

COKTI022 ' . 48 ; +



133. Match the correct one :
Party
(a) Swatantra party
(b) Gadar party
(c) Swaraj Party
(d Forward Bloc party

@ ® @ @
@ 1 2 -3
® 2 1 4
€ 1 3 4

B8 1 2

(E) Answer not kgoWn ‘

rz;moo»h

shuraraiperps Coipas0
| T |

(@) sgpdym a8

(b) 55 &8

(c) swrrgw 518

(d) urfreur. Derrs &8

@ ® @©@ @
@4 1 2 3
B 2 1 4
© 1 3 4
@ 8.0 1.2 '
(E) o9er Qgrﬂu_!aﬂd)@”w V

L T R

Ll R o

49

Founder
1. Sohan Singh Bhakna
2. Motilal Nehru
3. C. Raja Gopalachari
4. - Subash Chandra Bose
By

Cergen Sl L&serT
Curdleme Crm

8. gy Gairru(ra) r&&m

Gumely FHST m

CCS2T/2022
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134. When the Government of India had ,demded tziffupniglzzniegngf Nf}iin
commission of Inquiry to inquire 1nto the N -—-—-——\__@ :;
disappearance of Netaji Subhas Chandra Bose. In f India ’
name was recommended by the then Chief Justice 0 :

(A) Srinivasavaradan

(B) K.K. Ghosh
(C) D.K. Roy
G.D. Khosla
(E) Answer not known

v i B[ATRTIE Y
8.9. 1945 & Cpgrg) sunay sy Gume wihowner wepwWd BPLAULsM;
Qe ips e Eir?] @@ggmsg)mmuﬂ]eh_ S aﬁ]srr'uanmr P‘—ﬁé’mgﬁm gpHu
STFTRISLD @plq.ébm@gsg sowgded arapw e ssffloday smwdw Hiug
a1 Quwenyly ufipgierégmt
Q)  Bhearseuiiger
B) KXK. Gamai,
(C) D.K. gmu
(D) G.D. Csrever
(E) ofenr Qsfwiefcrena

135. Muhammadan Literary and Scientific Society of Calcutta was organised by
(A) Amir Ali
(B) Dudhu Miyan
‘ Abdul Latif
\'((gf Shariatullah
(E) Answer not known @
Qsrosgsrailer  wsodwldar  Gasfu LHDL  Siflefiw® el %
THUESSweuT
(A) =it e
B) gsgep Blwmer
C) siugd s
D) eyfluggdamgn
(E) oferr Qzflweldena
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137.

(B)
(€)
D)
(E)

136, The objective of Tenancy reform ig
ﬁ(&qflAbolition of Intermediarieg

Increase Rural Literacy
Regulation of Money Lenders

Eradication of Rura] indebtedness
Answer not known

posess®s SfGsss s sfar @ HaCGare

(A)
(B)
©€)
D)
(E)

Qe ssrsisamen Bé@eug

&rrouyp sdelwdane Siflafiiug
L6 QULPMEIGLIGUTEHemer YeopubSgieug
Sgmoyp sL6r sewaw @iitiug
el QzNwelldena

Which one of the following is the function of the Finance Commission of
India? '

@)

(1)
(111)
(4)

©)
E)

Allocation of the shares of net proceeds of taxes
Laying down principles governing grants-in-aid
Looking into the financial relation between the centre and the state

(i) and (i) “AB) (i), (i) and (i)
(1) and (ii1) (D) (11) and (i11)
Answer not known

Qereumaarap o @B FP pearugden Qewdun® g ?

(1)

(1)
(1ii)
(4)
(©)
(E)

afisafiar fay apamnder utgsdd gl
wraflukisaer Hieudls@d QameTnESMaT au@GHSSD o
wHHw wHHD e ATEEEEES e Cu 2 erer Hflupeaits urtiug

() womin (i) B (), () wpgw (i)
() wpmd (1) D) (i) wpgubd (iii)
HarL QzMweiidena
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188. Match correctly the common name with the Genus na matod,

parasites :
(@) Ancyclostoma 1. Whip worm
(b) Enterobius 2. Hook worm
(c) Wuchereria 3. Pin worm

4, TFilarial worm

(d) Trichuris

@ ® © @
@ 1 3 4
\,(m 2 3 4
© 3 4 2
1

D) 2 4
(E) Answer not known

LW = = DN

BIHL(W @LGWmﬂaaﬂsﬁr Guflars Quui@mLer Qurgeures Quuany  sfwmsd
QummSsayLb. |

(@) <emenssCGoomevGLmor 1. L q@

(b) eenGLrCGrmwev 2. Qa;rré@ LW

(¢) w&QsGriiur g W L

(d) corsfer 4. -:om'ucsa);ﬂueb LW

@ ® © @
a1 3 4 2
® 2 3 4 1
¥ RETT S B
D) 2 1 4 3
(E) ofen Qsflweildae
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199, 2PJ@83LB1V#Q65GWIKCD30e £E5FRTAY S

P@Listo Y 75 in the same way as § 1 #1s to
A RLO

B) F £3

() 'F o3

@) 5+ D

(E) Answer not known

9PJ@8SLB1V#Q65 GWIKCD30e £5FRTAY 4

P @ L ererug Y 7 S eret @,rﬂésasuulz_l_rreb $1# Grsirrugj ereuaUTM) &DEsLILHD 2
(4) R£O |
B FL3

(C) Fe3

140,

&

M 5eD

(E) efen Qg,lﬂu_laﬁ]sbémla)

If x means + , — means X, ~ means + and +'_n'1eans — , what is the

value of (3—15+19)x8+6? .

@A) 8 V

(B) 4 . | »
el N b P e
D) -1

(E) Answer not known \

+ ereug t+ wHpmd g - erafled
¥ .

(3-15+19)x8+6 @i wHIL TI?
A) 8

B) 4

C) 2

D g s

(E) oQenr Qg,rﬂwaﬂ@mm

x eretug +, — Ged
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ing numbers?
141¢ Which number replaces the question mark for the following S

OI0IO
®EO
OO

@ 21

@By 43

©) 25

D) 27
(E) Answer not known

&G Qa;rr@ésa;&m’.@sheﬁ erarsafiey ellemm GHOULRsEL uers GU(THLD GTERT 6T ?

® 0w
® @
® O
@) 21
(B) 23
(C) 25
D) 27
(E) oAerr Qsfuefdama
CCS2T/2022 54 | %




142 Find the volume of water tank measured 10 m x 5 m x 1.5 m.

(A)
B
©)
(D)

(E)

75 litre

750 litre

7500 litre

75000 litre
Answer not known

10 8 x5 B x 1.5 18 jemayarer @ BirsQsm guler Asmererara] wWrg?

(A)
B
(€)
D)
(E)

75 i
750 &Sl_Lir
7500 &liir
75000 &Lt

e Qg flweldana

143. An aluminium sphere of radius 12 cm is melted to make a cylinder of
radius 8 cm. Find the height of the cylinder. |

(&)
(B)
(%)
D)
- (B)

24 cm

30 cm

36 cm

40 cm ’
Answer not known '

12 Q&.\LB. %U@oe‘ncﬁ QI <igflafiwé G&ﬁmm o m&sLULL(H 8 Ga.i8. S TPETET GRIT

2 mavarwns LIHHUILE

(&)
(B)
Q

(D)
(E)

Hng. o (HEaTuilan 2 WD STeims.

24 G&.LB.‘
_30 Qe.L5.
36 QE.LS.

40 Qa&..5. ;
oL Qpfluaides
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r the principa] of

‘ ) . terest fO
144. Which among the following is the simple 1n » annum?
% 1,000 for one year at the rate of 10% inter est pe

(A) 700 (B) 500

(C) €150

(E) Answer not known

@) %100

Gereumeuaeupded ergy T 1,000 s@usens gpgnw@&@ 10% ereim 5580

safleu g ?
A) 700 (B) 500
(C) %150 (D) %100

(E) eleor Qsfwefdama

145. If the s1mple 1nterest at the rate of x% per annum, for x years, is ¥ x,

then the pr1n01pal amount 1S -

Wiy O ® f(loo)
! 5
©) f1oox' Al s i o
. _ x

(E) Ansvifer not known

@I c%mﬂ‘l-.ﬂ)@)' x% Uiy Qgﬁé’-’:@“’ X - éb‘m@&@&@ Sl &0 Safleully

.-aﬁ’gwrrmgj T % Gra;ﬂm igallem iy ‘ <G,
A zT=x _ : B = (100
: 2
X

(E) eflen Qg Awefidrenas

CCS2T/2022 , 56 '
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146. If 2x+3y:83x+5y=18:29 then x:y is

147.

(A)
(B)
©)
(D)
(E)

4:3
3:4
2:3
3:5

Answer not known

2x+3y:3x+5y=18:29 aafld x:y ereug

(&)

B

(©)
D)
(E)

4:3
3:4
28
3:5 |
aflen Ggfweiicrenc

If 5:6=x:12. Then the value of x is

(%)

- (B)

(©)

(D)
(E)

10
6
12
5

Answer not known

5:6=x:12 eaild x -ar Wiy

(A)
(B)

10
6

©) 12
M) 5
(E) afen QgMwelicenew

57
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ol that can be used

vess . .
e volume of a 11 capacity) of 80 litre

148. What is the greatest possibi ,
£ milk in cans (in fu

measure exactly the volume o
100 litres and 120 litres?

@A) " 20 litres

(C) 30 litres

(E) Answer not known

(B) 25 litres
(D) 40 litres

SR - Qe wpmd 120 e
gggggﬁ f&;uu:;gggm S?Jn:g;;rm ér]ﬁ(u)J(r)ras Den&&&Tm 9L uﬂgﬁﬂﬁsﬂs;
SPsLL S QameTaTeTa CTeleUETa ? -

(A) 20 O irger (B) 25 S L_LIT&eT

(C) 30 Aiger (D) 40 el L rr&elT

(E) e QsRwelcrena |

149. Find the HCF of a® -9ax?,(a—3x) .

(A) (a2 - 9x2) , . (B) (a - 3x)é
(€) (a®-9ax?) D) | (a - 3x)

(E)A_ Answer not known
a® - 9ax?,(a-3x) gHuapder BLOUEH QuTE uGsSHOW SramTs.
@A) (a*-92?) _ - B (a-3x)

(©) (a®-9ax?) (D) (a-3x)
(E) e Qsfweildvena

Jal):- Koy borrowed ¥ 52,000 from a money lender at a particular rate of
simple 1nter<_ast. After 4 years, he paid T 79,040 to settle hi r ra o
what rate of interest he borrowed the money? ’ settle his debt.
(@ 12% - (B) 13%
© :15% D) 11%

(E) Answer not known n

@ontr aauat @6 GHUALL saflay. dfssd T 52,000 & armer, QAuppr:

4 anBsErEGL DG S HLgns
ULy eigSHled el s Qumm,m%'n;.;m ¥ 79,040-gs Qegigdammi eraflen, eramd

(A).  12% (B) 13%

(C) 156%
(E) oo Azflueidma D) 11%

CCS2T/2022 58
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151 Match the followihg;

Subject Year
(a) Commission of Inquiry Act 1. 1968
(b) Central Civil Services (Conduct) Rules 2. 1850
(c) Public Servants (Enquiries) Act 3. 1964
(d) All India Service (Conduct) Rules 4. 1952
@ ® © @ |
@A) 1 2 3 4
@4 3 2 1
©) 4 3 ‘v 1; -3
™3 1 2 4
‘(E) - Answer hdt known
Spssan_apepl QUIBSSS :
Qum@peT (FLLLD) <3}, e8r ()
(a) efemyenewr ymeTwE FLLLD 1. 1968
(b) wsHws Gyl LIS (BLSPE) Afser 2. 1850
(© Ourrgn.': umﬂu.mmr‘rédf (eSemyenamaer) sUL b 3. 1964
d) <de QpHu Lafadr (L) elfsdr 4. 1952
@ ® © @@
a1 2 38 4
B 4 - 3 AR
€ 4 2 1 3
D) 3 1 2 4
(E) e Qzfweide
= | 59 CCS2T/2022
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?
correct about Cantonment Board?

tary forces are permanent,

152. Which of the following is/are

@) It is delimited area where the mili

stationed

ini i the
(i) It does not work under the administrative control of the Defene

Ministry
(iii) They are grouped into three categories
(A) 7 (1) only correct
(B) (i) and (ii) are correct
(C) (@) and (ii1) are correct
(D) (111) only correct |
(E) Answer not known
SamGLTeTQ e mnﬂugmga Lpdl EpssamcupmieT e/ cTavey &M ?
() opr@peud eueTUmISHLILILL _@meﬁl}_gg;u ﬁmgmna ﬁggguuﬁ_q@&@m
(1) urgsTLy amm%&asgﬁm asL@uurrL'_Lq.Gbr & @sl QG‘UJG'D\ HfleuHevrena
(i) @eeu @asrg] @masmnaéu WRssILL Hérerg)
A) () vEw shwurearg
(B) @ LoHpId (11) sfwrerencu
(©) (@) wppw (1il) efwurereeu
(D) (iii) v Ew sflureang

(E) e Gpfuaideme

' CCS2T/2022 - :
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153 Which Constitutional Amendment inserted Article 43B for promotion of
:‘ Co-operative Societies?

(A) 42 Amendment, 1976
(B) 44% Amendment, 1978
(C) 86%" Amendment, 2002

L(I){)QW* Amendment, 2011

(E) Answer hot known

b5 Srdue@oiy Sbss g:Ll_Lb..&\.l;®'mQ4 ssmESmaT 2TEGEALUSHETEL
9fey 43B-aw @eoasss?

A) 42'*“’5 HoppsoiD 1976
B) 44 ﬂ@égéh’.ub, 1978
Q) 86%°F Hmpsser b, 2002
D) 97%® gpssecid, 2011
(E) eflanr Gérﬂua‘ﬂd)mm

& ' 61 | CCS2T/2022
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154. Which one of the following fundamental rights has been wrongly listeq

(A) Right to Equality

(B) Right to Constitutional Remedies
(C) Right to Exploitation

(D) Right to Freedom

(E) Answer not known

£Cyp QsrRéstiur L sguueL efewsaid ag saupTaTS?
(A) swsge o fAew

BY wwduemvier apeob Siey srgpibd o few

Q) sranLgus@aTLTar 2 few |

D) &5bElT 2 Menwo
(E) &eoi Qg,rﬂmaﬁ]c‘pmcu

155. Which among the following was not a nomenclature for “Union
Territory” previously?
(A) Scheduled districts
(B) Chief Commissioner’s Provinces
(€) |Part C and Part D states
(D) Peculiar central enclaves
(E) Answer not known |
Epssrariupuaasaie g “garflu  QGssuseien” Qhosw  QuuIrE
S wing) ? |
(A) siiLeamardp Cerésliul L wreul Lkiser
(B) saaaw YyoaTwisaier wrsTamThEdT
©) ud Cuwppw ued D wriletiser
(D) seafsgeuwnar wFHL LGHsar
(E) o GpRAwaiidana

CCS2T/2022 | : 62 e
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156. Choose the right answer/answers about the Supreme Court of India. .

1) The S :
@) € Supreme Court is the Upholder of the Constitution of India.

Y The J e
(i) ; e Judges of the Supreme Court hold office till the age of Seventy-
WoO.

(iii) The Indian Judicig] System consists of a single hierarchy of Courts.

(iv) The Supreme Court of India was constituted on January, 1950

(A)
(B)
©
D)
(E)

@) and (ii) only

(11) only

(iii) and (iv) only -
(i), (iii) and (iv) only

Answer not known

@A 2 55 BHoamsmss GHss sfurar alamus Coipasbéseb :

(1)

(i)

(111)
(iv)
(A)
(B)
©
D)
(E)

o sef e @BHu SArdueamlieou Heow BniSEID ey 2460
o sgfSoann FHuHEET 72 Qg Q@] LgeufemriLmit

@pdu pHs@p GopoPL Lafloe Mmmm Si@L@LE Qsnan_s
@bSuw p_saﬁélwmmw 1950-&1@ aiﬁm @ aafremﬂ LOMGLD Qgrn_mjasuuL_Lg

(i) wpgip (i) wLED

(ii) wL G

(iii) wppd (v) LLGD
@, (iii) wppid (iv) LLED
e Qpfucddme

63 CCS2T/2022
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157 Match the following:

(a) Senji 1. Stala durga
(b) Anaimalai 2. Vana durga
(¢) Vellore 3. Giri durga

(d) Panchalankurichi 4. Jala durga

@ ® © @

@A 2 3 4 1
®) 3 2 1 4
/3 2 . 4 1
D) 4 3 2 1

(E) Answer not known -

SpssnarTUeHeDL Guﬁ@ggas
(a) Qsgpd 1 avse gifiam

(b) @awew | 2. euar gitem
(c) Geugri TR 1 Qﬂgﬁan

(d) LmGETaE s 4. g girsT

@ ® © @

a2 3 4 1
B) 3 2 1 4
© 3 2 4 1
- (D) 4 3 2 1
(B) Ao Osfluadme
cosamizoz2z 6




158. Sikandar Lodi was responsible for the foundation of the ___cityin
1504 A.D.

}(A) Dholpur
(B) Gwalior
A_(C). Etawah
D)/ Agra i o)

~ (E) Answer not known - g

£.9. 1504 @& Hpaoure — —  persdnE. Haspst  Geomg
SlgSsaTons QGHsT. : 5 '

I e = E——— |

A) Gsroyf

. Vo 4
B) Geaumdlwi

(C)  mLmeur

- 000§ . st

D) sy

(E) ofer Qsfueddee

= ‘ 65 ' CCS2T/2022
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159. The concentration Index was calculated by
(i) Total population and total cultivable area in terms of persop,
per kmz2.

(i) Dividing actual population of the district by the average populatioy

of a district.

(iii) Total population be correlated to the land area weighted according

to its productivity.

(A) / (1) and (i1) only

\

(B) (i) only
(C) (ii) and (iii) only
(D) (1) only

(E) Answer not known

Qadlay GASE ereucuny samsd LILGEDS

() o® A8 eder puisd SigiLeLwbd QLrss weser AsT@ms LHHD
Qiongs Fm@Liguller LY

i) om I.DH'G)JI'_L_§§|63T 2 @MELOWITET W&&ET UgTasW Sibwreul L et syef

wéseT AgTarsaw QaTar®d 6uEss6H.

(ili) Qurgs w&seT Qzrars Sigen &Duﬁﬁg Sp@iss gy Heriugriyd

G,sm.r’ruapl_u_lgj.
@ () wppo ) e
B) () v

(C) (i) wpgd (iii) L@
D) (i) wiEb
(E) oo Gsfweiidea

OOSITION22 66 o



160. Match the following :

(a) Tropical Evergreen 1.

(b) Tropical Deciduous 2.

(c) Semi desert 3.

(d) Mangrove 4.
@ ® o @

(A 3 4 | 2

@) 4 3 2 1

©2 1 3 4

4 2 3 1

(E) Answer not known

Qeramauaraihepls QUTHSSIS-
(a)

SISTOERTL® LISGWLWTDTE SThH&eT

(b) Swenarn o Qeaoudis srhsd
(c) eupehr LITENQQUEHTBISET
d) smuyPes stESET
@ ® @ @@
A 3 4 1 2
B) 4 3 2 1
©€) 2 1 3 4
D) 4 2 s 1

(E) oS Qgfwciidend

Thorny Bushes
Tidal Forests
Tropical Rain Forest

Monsoon forest

PLLSTEET
@55 ST(hH&ET

S|IWST LOERTL @ epé &T(h&eT

o

UheusSTHMISE ST(HS6T
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161. Which of the foliowing statements are true abou

¢ the location and extent

of India?

@)
(i)

(111)
(iv)

A)
(B)
—€]
D)
(E)

India is divided into almost two equal halves by tropic of cancer.

India is the second largest country of the world in area.
The latitude and longitudinal extend is nearly thirty degrees.
The standard meridian of India passes through Bhopal

(i1)) and (iii) only
(1), (i) and (iv) only
() and (iii) only .
(i), (iii) and (iv) only

Answer not known

@ bSuimeller @@ulﬁh_u) LHMIL UFiUeTa] @ﬁg@ju lﬁlmm@m sapmisafler erg

sflureng) ?

»

0)

(1)
(111)

- (@)

@)
(B)
©
(D)
(E)

sLs Grensulermed @;r,ﬁlurr grorelnE  @uan@®  swL UGS serrsL
LShﬂas&;uul_@mmgj ‘

urliuereile 2 edler @ramreug Quflu Bl @bHwi.

SILEF u);pgju) 5rrasas Guanssas@es@ @am_Gu_l 2 arer @enL_Qeuef SLglL
wpuugl g cﬂ,@m

@pdw S SirsaCrans GumLme m@u.nrras sLbg Gedgib

(11) wﬁ)guLb (1ii) wL @b

@), (1) wpgb (iv) LD
(5) wpgid (i) v Gu

@@), (iii) wpgid (iv) wLEb
eflen Qg fwelidens
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162. Assertion [A] : High density lipoproteins transport cholesterol from

Peripheral tissues to the liver.

Reason [R] The elevation of lipids in plasma leads to the

deposition of cholesterol on the arferial walls, leading

to atherosclerosis.
(A) [A] is false but [R] is true
(B) Both [A] and [R] are true, and [R] ‘is the éorrect explanation of [A]
(C) [A] is true but [R] is false |
(D) | Both [A] and [R] arertrue, but [R] is not the correct explariation of [A]

(E) * Answer not known

spp [A]  © ewr oLrsd Qsryuul yrswsdr Ups Hessele @b
sOSTREGE QsTev6vL Franas C&mer® Q&d)é'ld@ar. '
smyenid [R] Qerevwnedld o drar a9l seflen wHISIE sweall saursefld
Qsradgred  ugasHE efluesdng. Q& Gunbsaf
sigliIL5Care) SIPHHES afleuGsdng.
@) [Al pag. oo [Rlef
' ® - [A] wppw [R] @ramGo &fl. Coguw [R] aeug [Aldbe sfumar
afleTéaLOm@SLD | |
(C) [A] &R, spame [R] saum
©) [A] wopo [Rl @G ofl. mems [R] adug [Aldbe shune
 efleréasipde
(E) e Qsflwcidema

= . ’ 69 : CCS2T/2022
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| ng pair
163, Choose the stronger acid in each of the following p

(i) H3O" or H,0
(i) NH,* or NH;
(iii) H,S or HS~
(iv) H,0 or OH"

(B) H2O_’ NH3, HS—, OH"
(C) H;0*, NH,, HS, H,0

(D) H,0, NH,", H,S, OH"~
(E) Answer not known

@) ' H,0*, NH,", H,S, H,0

&G Qar@ssLuHerer @eGeums ngquﬁ]guw adleow @ sbwsass Csia
Qawiwayb.
(i) H;0" weweg Hy,O
() NH," siéoog NH,
- (i) H,S <éoag HS™
(iv) H,0 sioewg OH™

(&) H;0*, NH*, H;8, H,0
(B) H,0, NH3, HS", OH"
(C) H,0*, NH,, HS™, H,0
| D) HZO,NH4+,HZS,OH‘
(E) oo Qpflweiidans
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164. The interaction of biotic potential with environmental resources, as seen
in populations showing the S-shaped growth curve, as :

dN/dt=rN(N-K)/K where N is the number of individuals in the

population, ¢ is the time, r is the biotic potential of the organism
concerned and K stands for

(A) Carrying capacity

(B) Maximum population size
(C) Particular habitat

(D) Biomass

(E) Answer not known

S—Q.Hq.G)J auari&d) euanemeneud STL(HID LSS Qsrens@d sremriiLeug Gumed

SHMFGHLHD GUGETEIS(@HLETTEN 2 19w ?gq,g_r)msﬁlm Qi :
dN/dt = rN(N—K)/K @ue N adaug wasdr Gerested 2erer

safpuiseiar aamafisms, ¢ g Cpyib, 7 erarugl sbupsiLLL 2 uiflersHer
2 WAw Hper, wppid K erernig

(A) sriu@b Sper

(B) | D HELLE LOESET Qsrens ieTa

©Q AL eumpeilb

D) 2 WFIQummET ‘

(E) e Qsflweiidame

e ; 71 CCSzTIz022
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165. Consider the following statements :
Assertion [A] :  Simorgh (phoenix) launched two satellites.
Reason [R] : It is a satellite carrier rocket
Now select your answer scheme given below :
(A) Both are true
(B) Both are false

€5 [A] is false and [R] is true
(D) [A]is true and [R] is false

(E) Answer not known

Spssa_ aursfunsmeas seuafl :
sapm [A] : ACwris (Sefllsev) Qe Cswperss Comarsaner  eflcimanle

Cegusswg)

smgend [R] : @& Qewpess Ga;frsirasmm GI‘@(QSQ]&‘ Qeaib geysaLb G LD.

8Cp A Gerer GHSL g sAwmar a%Lmug, CoipAs@ :
Q) @ran@w sflurarg

(B) @ran@ibd seupreng

(C) [A] seupneng wpgid [R] sflwreng

D) [A] sfwnerg wppd [R] seuprers

(E) ofen QsMweidena
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166. Virtual G20 digital Economy M1n1sters Summit 2020 was orgamsed by
Saudi Arabia '

(B) Iran
(C) Iraq
(D) Kuwait

(E) Answer not known

Qu:u_lf,lasrr G20 eramrenfiwe Qun@mng,rru LD‘[bﬁfﬂBSGTT gl Lib 2020 @e erbg BTLL T
SIDDSHFILLL g ?

Q) soud SCrwir

B mymen |

©) wyrs

D) ewas |
(E) Qe CsfMweldena .

167. Where is the largest solar power project of India located?
\,«)‘ Rajasthan . | ’ |
(B) Karnataka
(C) Andhra Pradesh -
(D) Gujarat | e
(E) Answer not known

@pHwreler WsLQUAW @flw L@sareésg L ib e Hmieuiu Hererg ?
(A) grggevgmer

(B) sipr_sm

C) <pdrubyGsswd

D e |
(E) e GgRweicvane
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168. Justice. D. Murugesan Committee has been constituted in 2021 to look

into the matter of

(A) Reservation for Government school students in Tamil Nadu Police

Service

(B) Reservation in Public Sector Units

(C) Enrolment ratio of Government School students in Professional

Courses
(D) NEET Examination

(E) Answer not known

2021 BHwgsr D. wnGssar G ——— srfilugens <y

SMDESILILLG).

Q) el vetefll WraTALTSEEESS SOPBETE ST Fenpufed AL @580
B) Qurgisgieop ﬁmlmmmﬁﬁcb QL @5580

(C) QsmApasdaild siraiiuded wremerseler Corseans eflfsib

@) Bu Csta

(E) e Qzsfweildene
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169. 5:::,3:.:: f;olll%owlng passage and answer the item that follow. Your
© this item should be based on this passage only

PASSAGE

Eiuca_tlon management information system has been brought online
Vé erein the database of every school, teacher and students in
overnment, Government aided and private schools are maintained on

r'eal t.lme basis. Using this information several tasks are automated,
simplified and reported everyday.

Which one Qf the following is best implied in the passage?
(A)~Government has control over school

(B) “It helps government in taking well informed policy decision

(C) Different stakeholders are involved in the system

(D) It is beneficial to the school authorities and students

(E) Answer not known |

£Cp QanpésuuL@erer LFfowl Ugssl AerreipE e welssalb. 2 msaTg)

e wrerg &L LmuLomsy ugduder SigluemLld aRsSLLLLSTS @ més
Ceuair(®Lb -

seafl CuemeirenLd 5&561161) ey GTGTLIG) @mamiu aflunrss
QarameuruUbé QanamgmESngl. SO iy, ATE 2 5e9@QUMID  WHOID
seflwntr Lerefl sl o Afui wHPIL wrearearsalar S76y SHeaDS6 SeuauiGuirg
CesfésriLfapar. Qssaedsaman LweTuSd s QeueurseTTarg srer
Quésstiu@Heampar, aefgrasuu@demper  Gogd  prerGarpd - Sifises
swindssriILBSleTpar. _
Epssam_aipger gl Spuuimer FnpHONE Sienowb ?

(A) SirdpEL Lereisa Bgrer sLELLTE

B Apriurer HeUd gpeLomer Qanetens (pgQau@ss ATHDS Q& 25D,

(C) @euauanoLiLimed LdGauy STUULL LkIGSTTrEer LRQs@SS dTaTeTT

(D) weref @ﬁmnagﬁm@m wHmID LreeTHEEEGL B! LWIEIETaTETES Q) (HEED
(E) ofenr Qsfwedidama
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'17Q. Choose the correct answer

171.

)

Given the situation due to COVID-19, the net borrowing celllng f the

of GSDP in 2021.
() / 4 percent (B) 3.5 percent
(C) 5 percent (D) 6 percent

(E) Answer not known

states were enhanced to

sflwurer e aws Csib0sEH

Garell-19 sryertons ghul L @GpHlaeude, mnﬁm@&aﬂm Bl&y &L6T 2 FFauriby

2021@e GSDP-wer ——— 55 CLLUESEILLLS.
(A) 4sseSsp (B) 3.5 ssaSsd
(C) 5 sseisw B, : (1) 6 szaisid |

(E) oenr Qg,lﬂu.naﬁ]d)mw ,

AN

Which article of the Constitution states that the state to secure a social
order for the promotipn of welfare of the people?

(&) Article 38 © (B) Article 39

(C) Article 37 (D) Article 36

(E) Answer not khown | o

w&s6T po@mar CLOURSSIUSHSTS R saps 9@"51@5 AATE& UNGIGETEE Couam(HLD
eramg 6T Sipflweeoliy sLL9Mey smpdpg) -
(A) s Lcn9fey 38 o (B) stiu9fey 39
- - ". . \
O siwfey 37 (D) FLL9fey 36

(E) e Gsfueidame
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172. Which of the following is/are trye?
(1) Eesffgnl?!:ﬁgn may be ic.ientified with partial changes in the value
y consequential changes in the quality of relationships.

(i) Transformative changes are characterized with radical changes in
the total system

#) 1)only B) (ii) only
(€) () and (i) (D) None of the above
(E) Answer not known

- SpssraTuemeusaie eTgl/eTameu &ifl 2

() gﬁ@@@ﬁm. ereTLg) LY ewlbd ghu@b UGS WLTHDHEISGET HDID 2 mefiler
BISHD FHUGWD eflenaray fdlwmar wrHprsaTTD SiepLLITETLD STERTLILIL QLD

(1) o@mordy wrpprser Quwrss @wub@d Sy IHDHEISEHLGT

ausULhSsLIL[H S erper oo S
A) @) v ' B () breon
C) @ wppw (1) (D) agiad @

(E) &fen Osfwelcvenaw

173. According to the Niti Aayog’s health index (2021), — . and
emerged as the top three states in India.

(A) Uttar PradeSh, Assam and Punjab

(B) )Kerala, Tamil Nadu and Telangana

(C) Andhra Pradesh, Maharashtra and Gujarat

(D) Punjab, Karnataka and Haryana |

(E) Answer not known ' DI
12021 b BT Qavaf@cur. B lursdler sarsms GO 6L
BRI e . owppd _ fu orhleomsdr (pgd  eper)
@Lisaer Sy SgdTeTar.

A) 28y GCHEED, SiEVEMD DY LIEHETL

B) Gsgerr, sOPHTE LHHID AEPNAELE

©C) <=pdr lﬂ]@ﬂ‘g&fi); LD&TTE%IGTT LHNID SKITS

D) ugssm, sipr_sT LHHID anfAwimerm |

(E) e Qsflweloma

| 77 . CCS2T/2022
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174, Arrange the following territorial conquests of Alauddin Khilji in the
correct chronological order

I. Ranthambor

II. Malwa
ITII. Chittor
IV. Gujarat
() /1V, 1, 111, 11 4 (B) I, III, IV, II
(C) LIIIII IV D) IV, L II, I

(E) Answer not known

Soreydler Hoguier Gereumd ErmbSw Qmmgﬂa;anm werpwrer sTe euflensliiy
T(PSIS.

I. pengdCumt

II. wméveur

I Asgn
IV. &g
(A) IV, I, III, I (B) L III, IV, II

(@ LILIILIV ‘ D) IV, IIL II, I
(E) ofer Qsflweidene ;

175. Name the first woman who have been jailed for Salt Satyagraha in

Madras Presidency?
(X) “Rukmini Lakshmipathi ' (B) Durgabai
(C) Satyawati : - (D) Swaroop Rani

(E) Answer not known

QuLl_grev oMETETSS® 2 UL agﬁmrrélqasgﬁco FHULD SeopsE Qsamm pse
Quaroewtl wimiT?

(C) sswred ' | (D) eveuem grenf)
(E) &ferr Qsfluaildana
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176. Accordiné to the Kural;

¢ . .
Gnalam Karuthinum kaikoodum” when a man

wants to conquer the world what are the two things he should keep in
mind?

()
(i1)

(&)

Wealth and Bravery/courage

Time and Place

) oaly

(ii) omy
(i) and (i)

None of the above

- Answer not known

,,,,,

Cuhaadu HmsGneleny @GBaIT 2D PpaMSLID @sLILDDE SHIeTTed

Siauff
@
(1)

-

(A)
®
©
(D)
(E)

abs @remer Sfpg QeuduL Gauam@Lb?
QedeupLd 'aﬁg@tb

ST @L[pd

(@) b

(1) wL G

) wppi> Gi)

Cuparemib Gra);\JU-ILb SO

aflenL Ggsrﬂu_laﬂd)ww

79 ‘ CCS2T/2022
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)
/

to build a ney,

177. “Thirukkural and Kamban’s Epic would suffice
d”. Who said thig

civilization even if the present one is completely erase

(A) Caldwell

B8) |G.U. Pope

(C) Veeramamunivar

(D) Ellis

(E) Answer not known

e wdafle prafsd woHpb SifpsedLraid HEESDEHLD. &LDLIGHT 85”@9@@&)
@mpsTed Cungb, BarHb Bigmant Lig9sgeilamb — eremm) gaPluieur

A) sro@Qaud | B

B) #.y. Gum

(C) eSpwrepafieu

(D) eTéeSan

(E) e Osfuciodma

178. During the ‘Later Chola period’, ‘Trayili’ was associated with
(A) | Tax free land | |
(B) Taxed land
(C) Tax levied on temple land
(D) _Tax levied on leasing land
(E) Answer not known

Gpsras Cempl sTOsHS ‘Qopuiel aerug
(A) af @odors Haw |
B) af agdssiull flab

(C) Gsmde HesPpE fésiurL af
D) @ss@ss® ALLLLL fosdpanar auf
(E) ofen Ggflweiiden

QeriiyenLwg.
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179. Consider the following statementsg -

180.

(i1) In the Calcutta mee

(i) The partition of Ben

, al i 1o
the British divide an gal In 1905 was the most striking example of

d rule policy

ting 1905 Surendranath Banerjee

= gave a call for

gle "b;(t)gcAott of British goods and institutions

(ii1) On ugust 1905 at Town Hall ‘meeting in Calcutta, a formal
proclamation of Swadeshji movement was made

Which of the statements given above is/are correct?
(&) (@)only (B) (i) and (iii) only
(C) () and (ii) only ~(B) i), (ii) and (iii) are correct
(E) Answer not known '
Yemaumb snpmiEEmars &mens. | :
(1) 1905-@@ CupQamerartiur L euist Gfelmar @pidCowuiar 9ASsTEsD
Qarateansse Wss Anps 2_GMTERTLOM(GLD
(1) 1905-@e BeoLQupp Qardssst LIET Gd &CrEHTHNE LTaTis) 9L 1 Gigy
um@pLEemenub Hipeuarbismenyb Lnssamiss Si@mpliLelpssrT

(1) 1905 gysav 7-@d Qsrassst pay <rEdod paLQuDD i Lo &Cs8

Qu&sbd @Mz wapwrear SiPledliiy euprisiulLg).
H&HTL smpmiseile) eg/eame sflwrareae ? ,

(A) (@) wrEwb - B) @) wpmd (iil) v Ebd
(©) @) whmw (i) wrEL - D) @), (1) wpmw (ii) sAwrers
(E) e Qsflweferena '

Second Round Table conference of 1931 :
1. It was held during the reign of Lord Wellington as the viceroy of India

2. It was represented by Gandhi on behalf of INC. ‘(Indian National

Congress) .
Which of the above statement is/are correct?
(A) 1 only correct ~ (B) 2 only correct
(57 7Both 1 and 2 correct (D) Neither 1 nor 2

(E) Answer not known

£.9. 1931 yib yimig 6T @ram_reugl el Goeg wrpr@ :

1. Qeuedimieir Gy @ﬁﬁwnaﬁ]sﬁ amauevymwre @ mbs Curg penLCAuHDG.

2. @pdu Gedw smudpflar Arffdurs sTpE  QDLIPTLGD SR

QamesrLmir. ;
Cupsar smbhpiseid g/ Tmal FMLTATaI? o
(A) 1wr@Eb . (B) 2 w@w
©€) 1 wHmbd 2 (D) 1l @, 21 Ao

(E) &fen QzRweidene
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181. Alluvial soil is rich in
A)/ Humus, Phosphoric acid, Lime and Organic.matter |
(B) Iron, Lime, Calcium, Potash, Aluminium and MagneSmm

Carbonates
(C) Iron and Aluminium
(D) Highly Saline and rich in organic matter
(E) Answer not known

QUERTL_ 6D LD BT EPGLD GUETLOMETSITE: 2 6CTeTE)

A)  wadw, urevus b, sararmby, sAwl@uUTFHeT

B) @mwy, sewemmby, srodwund, QuriLreflwb, sgilaflub  oHyp
wéatedlwb sriuGer.

C) @mwy womb @i@dafwbd

(D) N&SHS e Lygseento whmib s sfloriblummerser

(E) oQeni Qzflwalerena '

182. Assertion (A) : V.0O. Chidambaram established the Swadeshi Steam
~ navigation company.
Reason (R) : He wanted to oppose the monopoly of the British in
Navigation through the coast.

(A) J (A) and (R) are true and (R) is the correct explanation of A)
(B)- (A) and (R) are true and (R) is not the correct explanation of (A)
(C) (A) is correct and (R) is wrong |

(D) (A) is wrong and (R) is correct °

(E) Answer not known

FnHyl A) : e.2. dgburd &Cs8 sliL® '[Blgjwmgmgg Qgr_riidermir.

smpewrd (R) @ @pdws &LD&e aurenflugde < Caowiraefer
wponflerwerw euir TGS,

Q) ampm (A) wppd smremd (R) e, smpeamd (R), (A) spenp efersEHs.

B) (A) smpy wpmd (R) smyemd sfl. gyemmes (R) smyewms (A) smpenp aflerss
afleene

€) (A) smpp &M, (R) smyawmd gaup
D) (A) smpp sy, (R) smremd &
C(B) oferL Gpflweldane :
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183. Chapter V of Part V of the constitution provides for a high officer of the

Parllament. who would exercise vigilance over the expenditure of public
money. He is

(&) | Comptroller and Auditor General of India
(B) Finance Minister

(C) Auditor General

(D) Prime Minister

(E) Answer not known

é‘"?ﬁ“-'d’ . Flieor ugd V-er V- osHwumud  wasafler (urg) L@TS®S
5W5"mﬂ55 BrLmepwerpgder o e wi sfsrllaw Hlwuwand Celdpg. Sieui
<}, GUITIT. :

A @bdu swaemw santléens WHMHID SewTdaTaTT

B) HE @e@wssi

(C) s@eew sallsmswurert

D) WYgsw WHAM |

(E) e&ler Qsfweloeame

184. Which article says that, “No child below the age of 14 years shall be
employed to work in any factory or in any hazardous employment”?
(A) Article 27 1 A (B) Article 26 |
(C)” Article 24 | (D) Article 25
(E) Answer not known o
‘14 UWZESS SPp 2.6T6T GPHSEET W(HD QETODIL D OO HLITWLISTLOTET
@Lusefé Caiee UMiéss slLgl — Q@ss sapid s L9y erg)?
A) srLo9fey 27 | (B) s 9fey 26
Q) srL09fey 24 D) srLu9fey 25
(E) e Qgsflweiéema |

185 Boothalingam study group is related to |
(A) Trade unions (B) Strikes \
(C) - Lockouts (DY Wages |
(E) Answer not known
Geraumeuaraub e LSSBED HUIESH TSEIL6T Qgriryepwig) ?

(A) QsmPp srskseT _ (B) Gawe fipssid R
©C) yresosdr (D) eafuriaser \
(E) e Qzfweiidena :

o ‘ b3 CCS2T/2022
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186. Which of the following is not the role of NITI Aayog?
(i) Act as a think tank.
(i) Power to impose policies on states.
(iii) Funds allocation.
(A) /1) only | e (B) (i) and (11)
(C) (i) and (i) - (D) (i) and (ii1)
(E) Answer not known

| Spsam_aupde ereneu ﬁﬁ-c’ypcmnésé]sh uentl @evrenev ?

1) em yCarsman @ueuns QEwdL(BHoug.
(1) wrhensald HLrismar Hanflsebd @Ewcbg‘;],msbi
(iil) H8 o586 e |
A O wvLeo (B @) wpgn (1)
©) Gi) wppo (i) @) @) wpmod (i)
(E) e Qsflweicrere ' | ’

187. Principles of scientific thinking‘are
() Empiricism o |
(ii) Rationalism
(iii) Skepticism- B
(A) (@) only - | (B) (ii) only
(C) (1) and (i1) only @9)7 (1), (1) and (iii)
(E) Answer not known |
<Mefwe fpsamaren Qsratansser
(1) e@ueTsD
() uesshoansd
(1) epCssid ' -
(A) (@A) wr@Eb (B) (i) wc@w
©) (i) whpid (11) @b D) @), (i) womw (i)
(E) e Qsflwefcdrena o
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188. How many terms of the series 1° +2° + 3° +
sum 12967

A) 6
B)_ 7
)" 8
D) 9

(E) Answer not known

...... should be taken to get the

aanp Cgrife ergs@ar o mliLsmer saligammed smbBsd 1296

(E) aflanr_ QzNweldreney

189. Find the value of V3+v 33...
ABY 3 |
B) 3
©C 3
®) 3

(E) Answer not known "

LDQDQ srans : V3V3V3...
A 3
- (® 3
© 3
D) - 3
(BE) e Qsfweldeae

CCS2T/2029
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190. The average mark of 25 students was found to be 78.4- Later on, it gy

found that score of 96 was misread as 69. Find the correct mean of ty, |

marks.

A 177.32

\/(51 79.48

(C) 179.84
(D) 97.84

(E) Answer not known

o

25 wremeuisefar syrefl wHIQUeT 78.4 @riE 96 eram wéliumerg 69 ead |

§
E
b

sgaupsons ahssIULLg sarLduliulL g eeafld, wHICQuETsErssTar gflwuma

gyreflen s sreas.
(A) T77.32
§5)) 79.48
(©) 79.84

@ 9784

(E) ofaL Qsflusideaa
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If5 ] i
)1. If 5 persons can do 5 jobs in 5 days then how many days will it take for

50 persons to finish 50 jobg?
@A) )5
©) 9

(E) Answer not known

B) 7
(D) 11

5 pufisdr O GQJ@S_)GDBSQMT 5 ‘Lbrn‘_a;cnﬂ@ Qg ot eafle 50 pufser .
50 Geueweaemer, aTggamen prisafler Qaig) (g LiLIiT?
@ 5 | B) 7

€ 9 D) 11
(E) &fen Qsfweldena |

92. A reader reads 20 pages of a book in 2 hours in an uniform speed. How

i

much time will it take to read 50 pages of the same book in the same
speed? |

(A) 3 hours

(B) 4 hours

(¢) 5 hours

(D) 4% hours

(E) Answer not known

@m GO L Caussded @ LS565MSL LigESD @ma 20 ussRIS®ETL Lig&Hs
2 werfl CrywIEDS! aaflé i 2Cs Caussdo 268 Lssasde 50 Léshs®aTL
Ul &8 GTeusaTe CpomGLo?

(A) 3 wenfl

B) 4 wenfl

(© 5 wenf

(D) 4% wenfl

(E) ofenr QzMweidame
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198. The difference between the S.I. and C.I. for 2 years for a principa] of
€ 5,000 at the rate of interest 8% p.a. 1s .

B)

(©)
D)

T 35
T 38
T 42

BN s e g

(E) Answer not known

T 5,000-85. 8% yaw® eigule, 2 %M@5@5@ sl gsEGD  &aLf
Qlg&E Qe Guiujerar Qﬁlggu_lrrsm .

GV
(B)
©)
D)
(E)

194. The compound interest on ¥ 5,000 at 12% p.a. for 2 years compounded
annually 1s

A)
(B)

(L) 121,272 '

)
(E)

Z 5,000-5@ 12% an® el yquie, 2 HarhsEnss. YSMREAsTHpan il hs

sarsALLurLTd Sl &G sl () el gLinans)

A)
(B)

©

D)
(E)

CCS2T/2022 88 . =

T 32
¥ 35
T 38
T 42
e Qzflwaildena

| &
¢

¥ 1,072
1,172

1,372
Answer not known

£ 1,072
71,172
T 1,272
1,372
e Qsflueioame




)

195. At what rate of simple Interest, the
¥ 55,560 in 2 years 3 months.

A) 5%

(B) 6%

@y 1%

D) 8% .

(E) Ansvx;er not known

principle ¥ 48,000 will amount to

250 T 48,000 yary 2 eycm@aer 3 wrssTosHNE Ger g,f;cﬂmu_gor epeuLD
Qursss Agrarswns T 55,560 s 2 wiksg afled) el eisb ST6Ts.

&) 5% o Bl R |

B) 6%.

Q@ 7%

® 8% |

(E) ofen Qg,rﬂu_la‘ild)mai

196. Find the ratio of 3 km to 300 m? |
" (A) 3:10 - | gE

B) 10:3 ‘ ’
(C) 1:10
D) )10:1
(E) Answer not known B
3 8.6-sib 500 B @éeD GooCu 2.rer BEED srins.
A 3:10
B 10:3
(C) 1:10

D) 10:1 A
(E) ofer @sflweiioma

' . 89 " - CCS2T/2022
= ik ; o [Turn over



197.

If the population in town has increased from 20,000 to 25,000 in a yeay
find the percentage increase in population

(A) 50% , |
®)) 25% | |
(C) 75% R |

D) 100%

(E) Answer not known

S BETEHET DEEHASTOS QI cgbcm e 20,000- Smpg 25,000-25 él@e;rﬂg,gmm@
arafled w&seT Qgrans wfaflliy sseigsamss ETENS.

(A) 50%

P e T e

e —

(B) 25%

(C) 75%

" (D) 100%

198.

'votes respectively, find the percentage of votes got by the Wmner"
(A 48% ‘

(E) ofleni Gglﬂmeﬂd)mm

If three cand1dates A, B and C in a school election got 153, 245 and 102

,{/au_qg}-;%- s _— o

@B)/ 49%

(C)' 50%

D) 55%

(E) Answer not known

A, B, C arénp Gauunariser ‘weiref Gsirgalled Qupp aums@sdr wapGu 153, 245
LD,rbg)lLD 102 arafld Qaupd Glum,m Geul_urrsmﬂasr QUTES, 556555;)55 ST,

e
&
o
e
b
o

i

i

(A) 48%

(B) - 49%
(© 50%
D) - 556%
(E) ofler G,srﬂu.leﬂa)ma)

-



199. HCF and LCM of two num
- number is 48, then the oth
@) /80
~ (B) 60
, (© 170
) 9 -
(E) Answer not known

bers are 16 and 240 respectlvely If one of the
er number is

B aarsefer 15.Qum.eu. wHmb 15.Qur.w. wepCu 16 wHyIb 240 < &LD.
Seuelilp aansafe, @@ erenr 48 erafled mm@mn@ CTERTE GRS GTERTS.

(A) 80 Bk

(B) 60 : e
© 1 LT
D) 90 S ’» o

(E) ofe Qsfiuedome

200. Wilson, Mathan, Guna can- complete one round of a circular track in
10, 15 and 20 minutes respectively. If they start together at 7 am from
the starting point at. what time will they meet together again at the -
starting point? . :

(A) "8 am

(B) 8pm

(C) 5pm.

D) 9am :

" (E) Answer not known :

Adser, LOFET, SST 2 ACGWm @@ el L eyelorar @huramsuder 9@ sHeD
wapCu 10, 15 whpid 20 AL mselld spf pipsdenpart. Sleuiser GHT_&sL
Latef@e sree 7 waflEd gapres spps Asmrmflamed, sauiser Sar@wb

erCung QzTL&sL yerefludled gemprss FhSHLILITTEET ?
(A) 8 qp.u: :

(B) 8 9.u.

(C) 5W9.u ’

(D-) 9'@71-" .
(E) e Qsflwaid@me
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